
Technische Richtlinien / Technical guidelines
aktuellen Stand beachten / take note of current status

Nr. / No. Benennung / Description

F-TG-V-6.2e
Cleaning_of_Standard_Vacuum_Compon

ents

1:1

BI-Type-Number: UNI-DG 1110

Replacement for UNI-DG 1040

1
0
5

7
0

8 0

8
0

0
.
8

0 .8

28

A A

B

B

C

C

view without faceplate

Y1

Y2

X1

X2

engraved into plug

141

4
4
.
5

15
4

2
5

30

31,32

A-A

1

19

10

5

3

18

13

29

8

B-B20 27

24 23

13.17

7
5

44.5

33.35

31.32

C-C

3

9

7

6

14

11

12

Se
ri

al
 n

um
be

r 
ap

pr
op

ri
at

e

or
de

ri
ng

 e
ng

ra
ve

d 
he

re



View into direction of beam

Direction of Movement

X
1 3 5 7 6163

Y 1
3
5
7

2
4
6
8

61
63

62
64 Y

2 4 6 8 62 64 X



Date

Drawn 27.07.2015

Checked

Approved

Prev. Dwg. Repl. for

Item Qty.

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

Description

Profile Grid UNI�DG 1110

Copying of this Document, and giving it to others and the use 

of communication of the contents thereof, are forbidden 

without express authority. Offenders are liable to the payment 

of damages. All rights are reserved in the event of the grant of 

a patent or the registration of a utility model or design.

Rev. No.

.

Rev..Doc..No.

Name

Hartung, M.

Date Name

For information

Drawing No.

BD�1023106�A�000
Rev.

�

Description
Dimensions

( finished part )

Standard /

Source of supply
Material RemarkDrawing No.

GSI Helmholtzzentrum für Schwerionenforschung GmbH

Planckstrasse 1, 64291 Darmstadt

STD.V01.C45.000.000

128 Stromabnehmer DG070.020 (B)

1 Halterung STD.000.B35.001.000 (A)

2 Fuehrungsleiste links und rechts STD.V01.C45.000.001 (.) Glaskeramik (Macor)

2 Klemmleiste oben und unten STD.000.B35.000.007 (.) Glaskeramik (Macor)

2 Fuehrungsleiste unten und oben STD.V01.C45.000.002 (.) Glaskeramik (Macor)

2 Side Plate Under and Top BD.1023110.P.000 (.)
EN AW.6060 

(AlMgSi0,5)

2 Klemmleiste links und rechts STD.000.B35.000.006 (.) Glaskeramik (Macor)

1 Blende STD.000.B35.000.001 (B) 1.4301 (X5CrNi18.10)

2 Side Plate left and right BD.1023109.P.000 (.)
EN AW.6060 

(AlMgSi0,5)

3 Winkel STD.000.B35.000.008 (.)
EN AW.6060 

(AlMgSi0,5)

1 Rahmen STD.000.B35.000.003 (.) EN AW.5754 (AlMg3)

1 Winkel STD.000.B35.000.009 (.)
EN AW.6060 

(AlMgSi0,5)

Sheet 1 of 2



Date

Drawn 27.07.2015

Checked

Approved

Prev. Dwg. Repl. for

Item Qty.

Description

Profile Grid UNI�DG 1110

Copying of this Document, and giving it to others and the use 

of communication of the contents thereof, are forbidden 

without express authority. Offenders are liable to the payment 

of damages. All rights are reserved in the event of the grant of 

a patent or the registration of a utility model or design.

Rev. No.

.

Rev..Doc..No.

Name

Hartung, M.

Date Name

For information

Drawing No.

BD�1023106�A�000
Rev.

�

Description
Dimensions

( finished part )

Standard /

Source of supply
Material RemarkDrawing No.

GSI Helmholtzzentrum für Schwerionenforschung GmbH

Planckstrasse 1, 64291 Darmstadt

STD.V01.C45.000.000

17

18

19

20

21

22

23

24

25

26

27

28

29

30

31

32

128 Feder DG140.000.040 (A) Duratherm 600

4 Feder DG070.000.140 (.)

4 Distanzstueck STD.000.B35.000.002 (A)
EN AW.6060 

(AlMgSi0,5)

2 Cylinder Bolt Ø3m6x16 ISO 2338 A2

8 Cylinder Bolt Ø3m6x8 ISO 2338 A2

8 Cylinder Screw M3x10 ISO 4762 A2 E Ag
Vacuum Screw / Fa. 

Allectra
Vacuum Screw / Fa. 

Allectra

8 Cylinder Screw M3x6 ISO 4762 A2 E Ag
Vacuum Screw / Fa. 

Allectra

8 Countersink Screw M3x8 ISO 10642 A2 E Ag

BNr. 211.FS37.HV4
High Vacuum Socket for Sub.D 

Female
Fa. Allectra

124 Crimp Pins for Sub.D Fa. Allectra BNr. 212.PINF.XX

8 Cylinder Screw M2,5x4 ISO 1207 A2

Sheet 2 of 2































Technische Richtlinien / Technical guidelines
aktuellen Stand beachten / take note of current status

Nr. / No. Benennung / Description

F-TG-V-6.2e
Cleaning_of_Standard_Vacuum_Compon

ents
Rz25

1:1

+0.3
-0.3

-0.1Kanten

ISO 13715

38.8 49.631x1.6=

1
0 2
0

1

12 104

128

AA

4590

3.2

1
.
4

2

A-A



1:1

Rz25

Technische Richtlinien / Technical guidelines
aktuellen Stand beachten / take note of current status

Nr. / No. Benennung / Description

F-TG-V-6.2e
Cleaning_of_Standard_Vacuum_Compon

ents

+0.3
-0.3

-0.1Kanten

ISO 13715

39.6 49.631x1.6=

12

104 ±0.1

128 -0.2

1
0 2
0

1
2

1

AA

90 45

3.2

1
.
4

2

A-A
















	Seiten aus 1-BD-1023106-A-000-0_Profile Grid UNI-DG 1110-3.pdf
	DG070.020.000-B_Stromabnehmer.pdf
	Seiten aus 1-BD-1023106-A-000-0_Profile Grid UNI-DG 1110-2.pdf

